Math 233 - Quiz 8 Name _Key
March 30, 2023 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (3 points) Find the linearization of f(z,y) = ; at the point where
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2. (3 pomts) The volume of a right circular cylinder of radius r and height A is given by
V = mr?h. Use differentials to approximate AV when 7 changes from 1 to 0.98 and h
e it
changes from 5 to 5.04. Ac= -0.09 Ah=0.0Y4
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3. (4 points)  Use the definition of differentiability to show that f(z,y) = zy — z is
differentiable everywhere.
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AND €50 ans €50 s (6x) s4)=(0,).



